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No. of Quesﬁons : 100

W9l &l W& : 100
Time :'2% Hours Full Marks : 300
1
W : 25 S | quTiE : 300

Note : (1) This question booklet contains 100 (hundred) questions in all
(30 in Section -A and 70 in Section - B). Attempt as many
questions as you can. Each question carries 3 marks. One mark
will be deducted for each incorrect answer. Zero mark will

be awarded for each unattempted question.

¥ eT-giasr g 100 (W) weT § (@vs-or § 30 7
GUS-q 7 70 ) | 1w uesit o wr HvY @1 gy Y | v
-ma(mq)mm%lmmaﬁ?é‘ﬁrqwm
PICT SAF | TAF FTART TS BT WiF g S |

(2] If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

aﬁmﬁm%mu@w%ﬁmmﬁ T Frepeas
S IR T

P.T.0.



01.

02.

SECTION - A
grs - A

Which one of the following should not be the first period activity ?
(1} Flag hoisting

(2) Assigning homework

(3) Announcement of the day's activity

(4) Cleaning of the classroom.

Frer # & g fear @ qeeh g3 & 9@t S =nfed 7
(1) esTREsT '

(2) Y& Hrd @ fagr S

(@) R X @ fFraned #t ga &

(4) HET W/ ARE FLAT

Teacher knows that each student of his class is different. Which one
is the best way to handle his class ?

(1) To coach slow learner after school.

(2) To ask bright students to study in the library.
(3) To ask other students to teach other students.

(4) To organize groups for specific purposes.

@awwugm%ﬁﬁwaﬁwwmwﬁm%n
Mmm%mﬁﬁwmﬁﬁwﬁeﬁmaﬂww%?

(1) RIEed @ U SR Bl il hifeT BT |

(2) @amgﬁa’%aﬁﬁgwmﬂﬁ'wﬁ%ﬁmml
(3) @%mﬁaﬁmgﬁﬁﬁ%ﬁ%%ﬁml

(@) fafore SR B WEN H HIST B



03. The best method for a teacher to adopt with a pupil who frequently
stammers in class is to : ’

(1) Afford the child ample opportunity to recite to the class.
(2) Ignore the child.

(3) Suggest that the parents seek professional help.

(4) Keep the child after school for individual help.

Uh AEIF & R Fam § e 9o a=% @y orfiR Y &
9 IUgET a4 98 2 B g -

(1) mﬂwﬁwmmmwaﬁl

(2) B @t 3IVer FY | :

(3) Wﬁ%ﬁw@m%ﬁww%s

(4) ﬁw%mmﬁmmm%%ﬁﬁw

04. A class teacher has been assigned to look after the school library
management. The teacher's top priority should be to make sure that :
(1) no books are lost or damaged.

(2) only books that are popular with the children are ordered.

(3) the library is used appropriately by maximum number of children.
(4)  Children are quiet while in the library.

W%I&Wﬂ%ﬂ@ﬂlﬂﬁmﬂa@?ﬁﬂﬁqf?ﬁ:

(1) aﬁéﬂﬁgﬁzﬁ@%quaﬁm&,

(2) aﬁff%%&w‘rgﬁ%maaﬁwml
(3) Wm%wﬁmmwﬁ,
(4) OF O gEheE F @ dr e <

S
P.T.0,



05. During the first parent teacher conference of ‘the year, the teacher
should do all of the following except to :

(1) include the child, when appropriate.

(2) encourage the parent to talk about her child.

(3) disagree with the parent's philosophy of child reading.

(4) offer a cup of coffee or tea.

af & er atoTTE fTEE whad § P § § o B oS

7 Gt STEATIh Bl HEA A

(1) St SR & A g= @ o wfwiE e =i |

(2) ST B oY g5 B AR # a1 w B o ARG BT
e |

(3) ﬁ%m—w%ﬁm@%%ﬁ%ﬁﬁaﬁat

(4) @Wmmwaﬁwmﬁ%ﬂaﬁﬁf

06. All of the following statements about children are correct except that :
(1) Older children in elementary school are less prone to illness
than younger children.
2) Many children do not eat proper breakfasts.
(3) Children like teachers who are firm and consistent. |
(4) Girls are superior to boys of the same age in mathematical
abilities. -

@ﬂﬁ%ﬁﬁﬁﬁ%ﬁﬁ@eﬁréﬁgw@ﬂ@%’

(1) Wmﬁﬁ@ﬁ,@%aﬁﬁwﬁm%“ﬁ
v & A 1

) ey ey SfeRt e A€ B | e O

(3) ﬁwam@ﬁmmm%ﬁﬁww
i

@) mﬁaﬁeﬁ%mﬁanﬁmﬁmﬂﬁmaﬁ%'



07. If parents ask teachers about their children's television habits, it is
best to suggest that they : ;

08.

(1)
(2)

(3)

(4)

prohibit television viewing by children.

allow children to watch only those programmes selected by the
parents. :

encourage family viewing and discussion of jointly selected
programmes.

give children freedom to select whatever they want to see.

Al IRHEF TeATE J U T B JeMfAET JEX Y ey

(1)
(2)
(3)

(4)

& IR ¥ 9B O wed orem geT gE A s 3

sl 1 S 3@ Ak F |
T B DA AU ERT TAT BT @A B SR 3 |

IRAR % T G w9 § A6 e 7 wga w7 @ wafe
HEHAT IR R st 9 B Seatea s |

aﬁfﬁﬁ@ﬁ%@maﬁlmqgil

Sohan and Mohan have the same mental age of years 8. We can infer
that : |

(1)
()
(3)
(4)

thcy may have the same potential for success in school.,
they may have the same 1Q. |

their ability to learn may be quite different.

they have copied from each other on the test.

Hied ud Hieq # A 8 ¥ #Fr 2, 7% Ry

(1)

aﬂaﬁﬁamﬁmm?ﬁm@aﬁ%.

(2) ST IQ U 4T & wwar 2|
(3) 'mmﬁﬁmwwam%,

(4) G@%hﬁ%ﬁﬁmﬁﬁm

7
P.T.0,



09.

10.

11.

Of the following the most important factor for learning is:

(1) ability to read (2) a good book

(3) desire to learn (4) a good teacher.
Frer & & otftrm & R @ad Aoyl &1 ©

(1) 9@ i dregar (2) TH IS fHaE
(3) HEw H F=wr (4) U 3TWT 3THUH

If a teacher is dealing with a challenged student, the best thing to do
for him is :

(1) to feel sorry for him.

(2) to sympathise with him.

(3) to ignore him.

(4) to train him in self-help techniques.

ST STEATTE 1 Fhdl FARN B (376 BF) & el e
HET B Al 39 =@y b

(1) IEH FHU §W Yehe B |

(2) IEH G eyl ke |

(3) IQ AoTLSAET &R & |

(@) S8 @ FE A B B B ARET T

If the following words are arranged as per dictionary, which serial will
be appropriate :

ﬁqﬁf@ag@aﬁm@aﬂaaﬁuﬁmﬁwaﬁmwmmém?

(i) Preface, (ii) Plucky, (iii) Punctuate, (iv) Purify, (v) Plentitude.
(1) v, ii, i, i, iv (2) iv, i1, 1,11,V
(3) v, i, i, iil, iv @) v, ii, iv, i, iit



12.

13.

14,

15.

Complete the series :

FH A9 H/ G BT
3,9,27, 81, (c...... )

(1) 144 (2) 270 (3) 162 (4) 243

In the following sentence mention which word out of the choices
given provides the best answer :

A school always has
(1) Teacher (2) Class (3) Classroom (4) Desk

M1 ar & Gt § 39 s B @t o By sawr aed et
IAT & -

9% e F g7 gar & - .
(1) ST1=™9sH (2) & (3) hHET ey 4) 3%

.Communication : Message : : ? : ?

(1) Humour : Amusement "~ (2) Expression : Words
(38) Clarification : Doubt (4) Radiation : Cosmic
TEGT : HA;T ;P ?

(1) 8= : {9 (2) o : o=
(3) TSEHIOT : i (4) fafezor : fqsaes

If MPOEPO means LONDON , what does NPTDPX mean ?

A& MPOEPO @I iR & LONDON & NPTDPX T a7
rfeyry & ?

(1) MASCOW (2) AMOSCO (3) MOSCOW (4) MOSEOW

P.T.0.



16.

17.

18.

19.

I go towards south, then turn to left, then left again, and then right.
In which direction am [ moving now ?

(1) South (2) North (3) West (4) East

% aferor faom @1 omar & fe A gean § R AiA gedar § oY
5 a3 | ot § fpg fRam @t o W@ § 7

(1) afeqor (2) STX (3) uig=™ (4) 9@

Which letter is ninth to the left of thirteenth letter from your right ?

TR AR @ 13 F T ux Rud oER 4 9 § T WX HiA-HI
e e B 7

(1) s (2) H () E 4 G

Ramesh is 5 years younger than Rekha and Giri is 5 years older than
Seema. Sahil is double the age of Seema and Ramesh is 2 years older
than Giri. Sahil is 6 years old. 7 years ago who was the youngest ?

(1) Ramesh (2) Rekha (3) Giri (4) Sahil
AT ¥aT ¥ 5 ay ser @ ofw M dwr & sad gg1 B e

i ou dr A AR B ol W AR & 299 g ® ) @fed &
39 6ad ) 799 Usd HEd Biel HiF o ?

(1) AL (2) @ 3) X (4) aifea

In a row of students Ashok is 4 from the left while Gagan is 17™ from
the right. When they exchange their position, Ashok becomes 6%
from the left. How many students are there in a row ?

ﬁmﬁﬁaﬁqﬁiﬁﬁmﬁ%ﬂwﬁﬁ%w%mﬁsmw
wﬁmﬁ@wﬁ%lw%aﬂwﬁwmmﬁwmﬂﬁiﬁﬂﬂ
Iwaﬁ%wém%lﬁ%ﬁﬁaﬁ%ﬁﬁmeﬁ%?

(1) 20 2) 21 (3) 22 (4) 23

10



20.

21.

22.

daadadiuadl Sl B B

Find out the missing number :

emaﬁwmaﬁﬁq:_

12 |4 |9
7
13 |6
(1) 3 (2) 11 3 10 4) 9
NTSE stands for-

(1) National Talent Search Examination.

(2) National Teacher Selection Examination.
(3) National Teacher Search Examination.
(4) National Talent Selection Examination.

Ls Bl

(1) 9997 A= | FaniERerT |
(2) AT TR AT FTTAI |
(3) A dreR e sqeniRe |
@) AV W= AqwT TS |

Which is NOT true for National Curriculum Framework (NCF 2005) ?
(1) provides the framework for making syllabii,

(2) provides the framework for developing textbooks.

(3) provides the framework for teaching practices.

(4) provides the framework for teacher selection.

+a P.T.0.



23.

24.

Jorier B B (T & o 2005) & A F w W T 7
(1) g Ueuspy T & /1Y BHgs J& Har © |

(2) %qmw%'ﬁﬁw%%ama%mm%n

(3) ae frerer @ R Baas 9w H o |

4) aE Rreror 999 & ford haas UaTT il |

Recently, who has been appointed as Director of CSIR-National
Chemical Lab, Pune ?

(1) Thokozani Mazozi (2) Naledi Pandor

(3) Ashwini Nangia (4) Roger Jardine
Wﬁéﬁﬁﬁﬁgﬁﬂ@@ﬁém%ﬁﬂm%ﬁwaﬂ,ﬁ
% FRe & us 9T g8 © ¢

(1) BT FSirsh (2) ST dSY

(3) e AT (4) I SIETE

Who gave awards 10 schools based on environment-friendly practices

in India ?
(1) CSE (2) NCERT
(3) UNICEF (4) NCTE

Eﬁtaﬁm’mﬂteﬂaﬁawaﬁﬁ%ﬁ%?
a) & o € () @ § AR A

9 %mm#ﬁgmﬁ 4 WAL

12



25.

26.

27.

b e el MRl Ly

Who has been appointed as new Director of NCERT in September
2015 ?

(1) Dr. Hrishikesh Senapathy

(2) Dr. Santosh Panda

(3) Dr. Vinod Agarwal

(4) Prof. Sudesh Mukhopadhyay
mﬁéﬁf&mﬁﬁgﬁam%ﬂéwﬁ%ﬁ%&m%wma&
=R ? |

(1) 2f. gefieber e (2) Sf. g<w 9msT

3) Sf. AT snEE (4) . T gEET

Madan Mohan Malviya University of Technology is situated in :

(1) Varanasi (2) Kanpur (3) Gorakhpur (4) Allahabad

HET Hied " NN fvafees et o Reg & 2
(1) aIreE . (2) HIHYT (3) TMTEYY (4) sTERERE

What is the Inclusive Education ?

(1) Male and female children participate and learn together in the
same school. -

(2) General, OBC and SC children participate and learn together in
the same school.

(3) Children with and without disabilities participate and learn
- together in the same school.

(4) Children of all religions participate and learn together in the
same school.

13 P.T.0.



28.

29.

30.

grmafara favew @ & 7

1) i o gew @ e A o e T o W A ¥y

(2) T,me@wﬁwﬁ@wmﬁiw
dd 2

(3) ForepetivT Td wepel a=a U € Whet § U A ged SA S
SEiCE

(4) Hﬁﬁ%aﬁ,%@%ﬁ@@@@?ﬁﬂ%ﬁ%l

The number of Central Universities in India is :

e § Ff Reafemel @ den /o v

(1) 27 (2) 46 (3) 48 (4) 38
Who was the first Vice-Chancellor of Banaras Hindu University ?
(1) Sir P.S. Swamy lyer

(2) Pandit Madan Mohan Malviya

(3) Rai Bahadur Sunder Lal

(4) Dr. Sarvpalli Radhakrishnan

W%ﬁﬁﬁﬁmﬂ%ﬂwmwiﬁﬂa?
(1) =it di. ug. @ A (2) 9. "ed Hied A

(3) TE FBgL gk (4) =f. Fauel TETHTTT
Unnat Bhart Abhiyan was launched in :

(1) September 2014 (2) October 2014

(3) December 2014 (4) March 2015

St e AR H B fRar T
(1) Ra= 2014 H (2) oTFEET 2014 H
(3) famrar 2014 (4) wrE 2015

14



31.

32.

33.

SECTION - B
gus - §

Binomial nomenclature was given by :

(1) Darwin , (2) Whittacker

(3) Linnaeus ! (4) Engler and Prantle
St aicheer R e -

(1) == 8/ © . (2) 2ReH BT

@) fafg axa (4) TR AR UT=d &R
Cell wall in fungi is composed of :

(1) Chitin (2) Cutin

(3) Cellulose (4) Suberin

P A PR T o Sy D

(1) @l | (2) egfest

() dgaieT 4) T

Which gfoup of plants is called Amphibians of the plant world ?
(1) Bryophytes (2) Pteridophytes

(3) Gymnosperms (4) Angiosperms

@rﬁ%%ﬂaﬂaﬁmwwwmw%?

is P.T.0.



34. Prokaryotes differ from eukaryotes in having :
(1) Mitochondria (2) Chloroplast

(3) Nucleolus (4) 70S ribosomes
difde, ghiEies § B 8

(1) HESIRI=gar & HROT (2) FARE &6 BT

(3) —feEIerE & BT (4) 708 TEATERE & BT

35. Agar-agar is extracted from :
(1) Porphyra (2) Gelidium

(3) Sargassum (4) Polysiphonia

SR-3TT faeplal ST & 7

(1) IREET A (2) Sfafezs &
(3) HREH d (4) dfchfesmitar &
36. Endosperm in gymnosperms and angiosperms respectively is :
(1) N, 2N (2) 2N, 3N
(3) 3N, N (4) N, 3N

Wﬁaﬁﬁ@wﬁﬁ@mmmzm%:

@) 30, T (4) TH,3TA

16



37.

38.

39.

Sttt Bl B L

Dark reaction of photosynthesis occurs in :

(1) Grana (2) Stroma

(3) Thylakoid . (4) Quantosome

SIS HISIOT Bl ST SARBBAT (Dark reaction) Ert B :
(1) =1 2 wmErH

3) ArEEE F (4) FT=IEg T
Mangrove vegetation respires through :

(1) Leaves (2) Rhizome

(3) Corm ~ (4) Pneumatophores
STIGE, aeeafeedt saae amed ¥ -

(1) ofcrat & "ream § (2) T B wrem Y
B) W B wregw J (4) AABRE B ATEHT J

How many glucose molecules are required to produce 38 ATPs
anaerobically ?

(1) One (2) Two

(3) Nineteen © (4) Thisty. eight

SAFITTET § 38 Wodlotlo (ATP) #1 w7 e R weqeptor
PR STopsTt &1 sTasaerar ary & 2

(1) @& 2 =

() I~ (4) orshg

17
P10,



40. Sunken stomata are found in :

(1) Mesophytes (2) Halophytes

(3) Hydrophytes (4) Xerophytes

§ gu @iter 91 S ¢

(1) HeneEed # (2) BATEETH (erronfafg) o

(3) ewEwEeE (FREE) o @) St (FoEE) A

41. Wood is common name for :
(1) Secondary Phloem (2) Pith

(3) Sccondary Xylem (4) Cambium

HS P GETE AW B |
(1) fachoe oeiied & e (2) R s [/
(3) fexfrarh ST % [T (4) HiEgaH & W

42. Kreb's cycle starts with formation of :

(1) Citric acid (2) Succinic acid
(3) Oxalo-acetic acid (4) Acetyl co-enzyme A
g o T [T I &ar B

(1) e o & 94 W
(2) aﬁﬁﬁﬁﬁﬁaﬁ%aﬁ%-ﬁ
(3) srfeEe-oRie o & F A
@) @ﬁazﬁ-@ngqpa%aﬂ%ﬁ

18



43.

45.

Kranz anatomy is found in :

(1) All plants (2) C, plants

(3) C, plants (4) Only aquatic plants
BT GARRR (STafe) rar omer B .

(1) a+fr e} 7 (2) -3 qref F

(3) -4 qgf F (4) Bawr s 9reT 7
Erhbryo sac in angiosperms typically has :

(1) One nucleus (2) Two nuclei

(8) Four nuclei (4) Eight nuclei
AR d gerpy Rdiverr: @ @

(1) T F= 2 f& #==

(3) =R F=es (4): o1 FaF

The most common larval forms met within crustacea is known as :
(1)  Miracidium larva (2) Nauplius larva

(3) Bipinnaria larva (4) Trochophore larva

fﬂéﬁmﬁwﬁﬁwmmmmmw%:
(1) PR et (2) =maferTT raf

(3) =E=iar st (4) TRBIR Tt

1
9 PoTcO-



10UV / Fa) O\4)

46. Which one of the following hormones of the pituitary gland is a direct

acting hormone that is without interaction of other hormone ?

(1) TSH @) ACTH (3 LH (4) MSH
Wﬂmmﬁﬁﬁ?—ws@ﬁm%@maﬁﬁ
& aratiar BRY geer g9l B B 8 7

(1) &. gg. oo, () w. . @ .

(3) T T (4) TH. TH. Td.

47. Skiu is anraccessory organ of respiration in :

(1) Humans (2) Cockroach
(3) Lizards (4) Frogs
amsa’aﬁa‘awaiﬁm%wﬁéﬁ%:

(1) A¥9 H (2) @rRAA |
(3) Rygaxh (4) AgH H

48. Wings of insects and wings of birds are the examples of :
(1) Analogy | (2) Homology
(3) Serology . (4) Mimicry
7t & g AR aRE @ 9u Swel i
(1) T (2) B ®
@) s & (@) FiER B

20
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49. The genetic material of a virus is :

(1) D.N.A. (2) R.N.A.

(3) Either DNA or RNA (4) Both DNA and RNA
U HEE B ARG qared (R AfeRa) @ -
(1) €I T T

(2) R. TH. g

@) .. T oq AR . T F 9w
(4) St @ w. R TR, wH. uw. Qi

50. Which of the following is an incorrect match ?

(1) Alexander Fleming - Penicillin
(2) Louis Pasteur - Fermentation
(3) Edward Jenner - Vaccination

(4) Antony Von Leeuwenhoek - Sterilization

ﬁﬁﬁf@aﬁﬁﬂ#%m@ﬁﬁ%_

(1) TS wifdT - Ufifeehs
(2) g Te=x - v (weamea)
8) weaE S - AR (Sa)

(4) TR A e - XA (AeregFeT)

- P.T.0.



51.

52.

53.

In which one of the following groups all animals are hermaphrodite ?
(1) Hydra, Ascaris, pheretima |

(2) Hydra, Homosapiens, Leech

(3) Tapeworm, Toad, Starfish

(4) Hydra, Leech, Tapeworm

ﬁ%ﬁﬁﬂﬁﬂﬁ@rﬁ@@ﬁﬂﬁﬁﬁa(wﬁﬁzﬂwﬂmg:
(1) EES], TEHE, BRIeAT (2) eEEl, RN, A
(3) 2uam, ors, WRIHT (4) =g, o, A

Phylum Protozoa is divided into four classes on the basis of their :
(1) Nuclear Structure (2) Locomotor structure

(8) Mode of reproduction (4) Mode of nutrition

o SERteT B o = At R R S €
(1) D=ep dXaT H AR T

(2) SRMIEY GLEHl & STER T

(3) S B dde & SER 9T

(4) drwer B TS B STER W

Ornithorynchus is a :

(1) Fossil bird

(2) Flightless bird

(3) Connecting link between reptiles and birds

(4) Mammal

22



54.

SS.

56.

an+eanfeara 2

(1) Q& Siareq gaft

(2) TH IsAfd= geh

(3) wH TagY % weft B diw o w

(4) TH wWEER

Ichthyophis is :

(1) afish ' (2) an amphibian
(38) a reptile (4) amammal
SRRy :

(1) T #sh B (2) TH INGER B
(3) TH whgy ® (4) T T R
The action potential in a mammalian nerve fiber is generated by.
(1) Na*ions (2) K'ions

(3) Clions (4) Ca'*ions

Membranous Structure Separating the sealavestibuliand scala media
of mammalian ear is called :

(1) Basilar membrane (2) Otolith Mmembrane

(3) Tectorial membrane (4) Reissner's membrane

25 P.T.0,



10U/ P4/ 6(1)

57.

58.

59.

e ® F B S oY @ W H gw
arell fereelisaT dXeET weal §

(1) afgex Bl (2) ofeferer et
(3) 2ewrfera freeh 4) da=rd RBreeh
The sarcomere is the area between :

(1) Two [ bands (2) TwoZ bands
(3) Two H bands (4) Two A bands

qrEET B § @ fhad "ed & 8 ©

(1) 31 o vs| & A & (2) a ST A=d B "HA W
(3) 2 TF I & qHA & (4) & T ATA B AA F
Hamburger's phenomenon is also called :

(1) HCO, shift (2) Chloride shift _

(3) Hydrogen shift (4) Sodium pump

Srepfrg @ afvsresr o S ST ® e

(1) @EitER o (HCO,) faree ® 9m |

(2) FRIEE e & AW g

(3) TESE ge & A d
(4) Afsgd o & TH q

The Vitamin known as Thiamin is also called as:

(1) Vitamin B, | (2) Vitamin B,

(3) Vitamin Bg (4) Vitamin B,,

o1 e faeTEe Al ST S ?

(1) WBI%WQ (2) WBQ%WQ
@ fetm B, & - & @) FefaE B,® T a

24



i bt B £ |

60. When an ideal gas is expanded, the cooling does not occur because :

61.

62.

(1) Inversion temperature is high.
(2) Mutual-attraction forces are not developed.
(3) Loss in kinetic energy is equal to work done.

(4)  Molecules colloide without loss of energy.

(2) 'mmaﬁﬂﬁmaﬁl
(3) ﬂﬁwmaﬁrmﬂmﬁaméwéﬁm%l
(4) Y o F BT ot 2y B ey ¥

The crystals whose molecules are linear are known as :
(1) Smetic liquid crystal (2) Nematic liquid crystal
(3) Cholestric liquid crystal (4) Isotropy liquid

%%&ﬁrﬁﬁ%ﬂ%ﬁ@ﬁ%?ﬁ%ﬁ%:
(1) wafes iftes free 2) ﬁﬁﬁ?ﬁ%ﬁﬂ@ﬁﬂ:ﬁr.
(3) aﬁﬁﬁaaeﬁ‘rrhagfaﬂza (4) aﬂs@gﬁ%ﬁag(mad’rm)

In a body centred cubic cell, an atom at the centre of the unit cell

touches :

(1) 2 atoms (2) 4 atoms (3) 6 atoms (4) 8 atoms

mw%wm'ﬁ,wm%hﬁﬁww
ﬁqﬁwaﬁm\ﬁ%ﬂwﬁﬁm%:

(1) = a1 (@) =R ey (3 B: 3] (4) o o7y
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63. Which one is correct statement in the case of milk ?
(1) Milk is an emulsion of fat in water.
(2) Milk is an emulsion of protein in water.
(3) Milk is an stabilized by protein.
(4) Milkis an stabilized by fat.

a;r%éaﬁﬁeﬁﬂ—wmmm%?

(1) gaqzﬁfﬁm(ngq)%mmqﬁﬁﬁn
(2) Eﬁl@ﬁaﬂt(gﬂ?ﬂ?{)%sﬁﬁﬂmqﬁhﬁu
3) wﬁaﬂmwﬁamaﬁw%l

(4) q\aammmﬁamm%n

64. The cell potential is a :

(1) Colligative property (2) Intensive property
(3) Thermodynamic property (4) Extensive property
q fawa i

(1) Teh epreirtied IJoT (2) Th grerda I
(3) T gHISEANHD T (4) wh FEEclEa IO

65. The triple point is the point where :
(1) Three components are in equilibrium.

(2) The number of degrees of freedom 1is three.
(3) The number of degrees of freedom is zero.
(4) The number of degrees of freedom is one.

(1) Sy argad arEEEn # 2 2

2) %ﬁaﬁtﬁqﬂgqﬁé@reﬁqa—cﬁ%t
(3) %ﬁmwaﬁﬁ@r@é‘cﬁ%l
(4) fg;ﬁaﬂtﬁqﬁgqa%m@@%ﬁ%l
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66.

67.

68.

When 1 mole of an ideal gas expands isothermally at 300 K from 1
litre volume to 10 litre volume. The internal energy change (AU) for
this process is (given that R= 2cal K! mole™!) :

(1) 300 cal. | (2) - 600 cal.

(3) 1200 cal. (4) O (zero) cal.

FRefl 1 At amast e B af 300 K 9w wq & T R

ST & R 1 sfex strae ot 10 ¥IeX SIEE & S ¥ | =1 afay
? oTaRE ST (AU) qRadT @ - (Rar a1 ¥ R= 2cal k- mole!)

(1) 300 sy 2 (2) 600 & &
(3) 1200 A B (4) I DD B
A reaction proceeds with increase in both the enthalpy and entropy. It
will be spontaneous if
(1) AH<TAS (2) AH=TaS
(3) AH>TaS (4) None of these
%ﬁﬂﬁ%mﬁmwmﬁm%l%mm
(1) AH<TAS - (2) AH=TAS
B) AH>TAS (4) = @ N 7
Diethylether on heating with €xcess concentrated Hj gives :
(1) Methyl iodide _ (2) isopropyl iodide
(3) Ethyl iodide (4) n- Propyl iodide

27
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69.

70.

71.

ey A A EET STeEs A stk § W A
¥ e ure B B

(1) fyemga AEISES (2) STFEEUET AASES

What type of radiation is used in nuclear magnetic resonance

spectroscopy ?
(1) Visible light | (2) Ultravoilet light

(3) Radio waves (4) Micro waves
ngﬁm’(ﬂﬂﬁﬁ‘cﬁ%@ﬁ:& (NMR) Sergrehidt # e geRTT 1 ST
e Bl & °

(1) Z93 Tl (2) STcgTETANE T

(3) XA AT (4) wTEERT AT

Which hybridization is associated with bond angles of about 120 degree ?
Fre-a1 eEfEeEed AT 120_@?&%@@?«%%?
(1) sp (2) sp’ (3) sp’ (4) sp’

Of the following non-electrolytes which one will produce a solution

with the lowest freezing point if 158 of the respective species dis-

solved in 1kg of water ?

Gkl AM-SAdE IR # 15g a 1 frodTo Tl ¥ OFe 1), HHA-A
- EE qaE FH [ ¥ar HUM ?
ll) C6H1206 (2) CH:}OH (3) C2H50H l4} C’SHsOs
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72.

73.

74.

The para magnetic molecule is :

Fr=1 & ¥ s ot &

1) o, 2) N, 3) ¢l (4) clo,

An particle of mass m and Charge +q is situated exactly at the mid
point at the line joining the two stationary particles each of charge +q.
If the distance between the two stationary particles 2L and the par-
ticle at the center is given a small displacement along the line joining

the two stationary particles then the frequency of oscillation of the
particle is :

mmwwaﬁmaﬁrwwmiﬁwﬁmwﬁ(mm
aﬂa?Hq)%ﬁﬁﬁaﬁiﬁEﬁaw%lqgwﬁsaﬁamwﬁ
ﬁwwﬁ%ﬁmﬁwﬁ%@wnﬁrm%vmaﬁaﬁam
ﬁ“ﬂﬁﬁﬁmw%lsﬁﬂﬁrﬂ%ﬁaﬁméﬁﬁ:

g/ 1 | e 41

(1) 2]'[ .mJIEO L]' [2) die c, n]_[_‘!
1 q _L q

© e mL* 4 2t\me, I

value of the electric field intensi
of this sphere :

(1) 160 volt/meter 2)
(3) 80 volt/meter 4)

120 volt/meter
60 volt/meter
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75.

76.

Q%Wﬁa@ﬁlﬁ@ﬂﬁiﬁRﬁﬁﬂaﬁ‘?@.

gg ) & 2
aﬁ/ﬁo%lsﬂﬁ%%%awgg&w%ga%awmﬁglm?
(1) 160 diee /Hio (2) 120de/Hlo |
(3) 80 aATE /Hlo (4) 60 diee /Hio

Ratio between the bar magnetic moments of two similar (in size) bar
magnets is 1:2 these are kept one over the other such that their
similar poles coincide each other and are allowed to unilerate in a
magnetic field and the time period of oscillation is found to be 3 sec.
If the poles of one magnet are over turned and the system is again
allowed to oscillate in the same field the time period of oscillation will

be :
(1) 3y3sec (2)  Bsec- (3) ;-17-3‘—560. (4) jl_gsec.

@@W%%@g@ﬁ%g@zﬁﬂml:zﬁ%iﬁ@
gﬂi%wsﬁwwﬁ%ﬁﬁsﬂ%aﬁ‘ﬁ—ﬁﬁgﬁm
ﬁévﬂ-afﬁvﬁga%wﬁlw@aaﬁﬂaaﬁaaﬁmﬁwaaﬁ
Wsﬁom%lqﬁﬁgﬂiﬁ%gﬁwﬁﬁaﬁ?ﬁsﬂw
ﬁa@mﬁmmwwmm:

Q) 35 ¥ @ f¥ O ;‘J-gao @) —}3-@0

scus of a liquid contained in oné of the limbs of a narrow U-tube
tween the pole pieces of an electromagnet with the meniscus
with the field. When the electromagnet 18 switched on, the
This indicates that the liquid is :

(2) Diamagnetic

The meni
is placed be
in the line
liquid is seen to rise in the imb.
(1) Ferromagnctic

(3) Non-magnetic (4) Paramagnetic
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7.

78.

wuﬁaﬁ@wﬁﬁ@maﬁrmaﬁ(ﬁﬁw)
T AYT b B 4T @O B g F 39 gHR @ o 2 R

e e gt & ws Yt § ¥ | Rige g § awy wafa
BT WX 5T B TA T B Y § S I3 oGT 21| 98 39 A

Eﬁm‘raaﬁ?m%ﬁsm:
(1) Mgy (2 ufrge
(3) Srg=EE & (4) STHg=EHY

A coil of inductance 8.6 mH and resistance 6 is connected toa 12 v

battery. The current is in the coil will be 1.0 ampere approximately at
the time : '

(1) after 1.5 mili. sec. (2) after 2 mili.sec.

(3) after 1.2 mili. sec. (4) after 1 mili.sec.

%wmﬁms.smkl T AR 6 R, 12 die 3 b
| S It ¥ 1 Fvseh F arr @7 A 1.0 TR9ER BN ST |

(1) 1.5R&fo Yo ax . (2) 2.0 Fcito Qo aE
@) 1.2 fsfto Fo T (4) 1.0 Frfto Qo a1

In an A.C. circuit the current ig given by [ = [, sinwt. The value of the
time taken in changing the current from its maximum value to R.M.S.
value of the current in this circuit will be :

Wwwqﬁwﬁwwqﬁhlusinm;%lmﬂ%m
mﬁaﬁw’lﬁrmaﬁﬂaﬁﬁﬁwﬁaﬁnm@m:-

T 2n '
L @ = B @ 5
31
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79.

80.

81.

The threshold wavelength of a metal is 4000 AU. If light of wavelength
3000 AU irradiates this metal surface the maximum kinetic energy of
photo electrons is :

fereft g & ford el adreed 4000 AU 2| afX 3000 AU TeEH
mwsﬂaﬁwwamﬁﬁéﬁmargéaaﬁaﬁaﬁmﬁm
it FHeu Brll | |

(1) 1.6eV (2) 1.38eV  (3) 1.0eV (4) 1.2eV

A proton moving with constant velocity, passes through such a place
where its velocity does not change. If g and g represent the electric
and magnetic fields respectively then indicate the false statement

about these fields at this place :

qmﬁaﬂqmﬁw%@aﬁwg@,@@'@ﬁﬁw%ﬁ
=@ AT # HIS uRad" e farl AR g T B AL dgga a
Wﬁﬁﬁﬁﬁﬁww%ﬁﬁﬁwﬁﬂﬁﬂ—ww

AT B
(1) Ex0B=0 (2 E=0B=0 (3) E=0B=0 (4 E=0B=0
The black body radiates energy at the rate E watt/m? at a high tem-

: T ‘
perature T K. When the temperature falls to 5 K the radiated energy
will be : '

Q%WW@WWTKWEmﬁﬁow%ﬂawﬁaﬁ

wﬁ%ﬁaﬁw%laﬁaﬂ%K ﬁﬁmmawwﬁawﬁm:
E
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83.

84,

The peak value of the A.C. voltage across the secondary of a trans-
former in a half wave rectifier with no filter circuit is 95 volts the

maximum output D.C. voltage across the load is :

9
(1) 4.Svolt (2) 9volt (3) -J_f volt (4) 18 volt
FEACT Reeoprlt § grqopnit 2 R 3 aRer: seamadt (Toto)

e = s 79 o aﬁ%iW(@@)WﬁE(é’f.?ﬁ)ﬁﬂa
1 AfpaH 7 frasm err ?
9

(1) 45dFe (2) 9 ge (3) ‘J_E’Cﬁﬁ.' (4) 18 dlee

The current gain for a transistor working as comman base amplifer is

0.96 . If the same transistor is used as comman emitter amplifer and

the base current is 25 HA then the collector current is :

(1) 400pA (2) 500pA  (3) 600uA (4) 800uA
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85.

86.

U g S H =gt @ et Soft 0.0327eV ¥ 1 AR g A
& G 700 Fo B Al 10 ez g8l ag w7 g BT R AT
BT B ST ? (|G @ SAHN = 1.675 x10-27 foro)

(1) 2.45x10-6 (2) 1.25x10-4

(3) 4.76x10-5 (4) 3.96x10-6

If an iron needle floats on the surface of water then the reason for

this event is :

(1) Viscosity of water

(2) Buoyancy of water

(3) Surface tension of water

(4) Gravitational force of water

a%@%aﬁ@qéﬁaﬁmwaﬁ%a‘raﬂmm
HIOT B
(1) Gl sl ATl (2) G T IeAE I

(3) Gt &1 g dE (4) e B JeEE S

A satellite érbiting in a circular orbit of radius R completes one revolution

.1 3 hours. If orbital radius of geostationary satellite is 42000 km.

then the orbital radius R of the satellite (in Kelometers) is :

: T & 3
@Wﬁrﬂ%qﬁﬁ'ﬂqﬁaﬁﬁwR%@aﬁT
w%m%tuﬁfmﬁﬁmm%q«ﬂﬂnﬁaﬁﬁmmow

%Oﬂo@ﬁm%qﬁuaﬁaaﬁﬁwk(ﬁﬁﬁ.)ﬁ@ﬁ:

(1) 9000 (2) 5250 (3) 10500 (4) 21000
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87. The babies born before 37 weeks of gestation are :

(1) Full term babies (2) Preterm babies

(3) Small for date (4) Low birth weight babies
THERT & 37 WE B g o Ry e

(1) B = frg (2) s frg

(8) T B 3T (4) P9 AR ST g

Severe protein-calorie malnutrition in children resulting in a shrunken
elderly appearance is called:

(1) Anemia (2) Kwarshiorkor

(3) Marasmus (4) Goitre |

T A TR -Gt e & eor e R, g b
MpfT e ¥ - |

(1)  TeFgar (2) =FEfREIRET

() AT | (4) g

Pow-erful chemical substances secreted by endocrine gland and
carried through the body by the blood stream :

(1) Hormones (2) Enzymes

(38) Cofactors (4) Coenzymes

aaﬂwﬁ?mﬁﬁfﬁzmmfumznuaﬁhifmﬁhfmﬁﬁmﬁ
9T e T

(1) &wi (2) g

@) FPeaeT (4) PHUTERH

What is green gold ?

(1) A green algae (2) Tendu Patta

() Horticulture product (4) Green manure
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91.

92.

93.

94,

AT Mes &1 8 7

(1) &0 A (2) g Tl

(3) eifdeeay I 4) 'O @&

Which one of the following fruits is most suitable for jelly making ?
(1) Mango (2) Papaya

(3) Guava (4) Banana

et § & Sre-ar Ge Siell g & o adar SugE 8 7
() HAH (2) gdrn

(3) STHER (4) @

Following 1s a complex molecule that contains genetic informatior .
(1) DNA (2) RNA

(3) Protein (4) Oleic acid

R o sifee o) & forad e gem Fied e

(1) o vio o (2) o THo Wo

(3) " (4) SiffeTeR TR

The transfer of information from sender to a receiver is :

(1) Extension (2) Education

(3) Communication (4) Management

S B et R D

(1) HER (2) forem

(3) A (4) "I

Sulphur containing fibre is :

(1) Nylon (2) Rayon (3) Wool (4) Silk

HeHT HEET gH ®
(1) dEEE  (2) (8 A (4) XM
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95.

96.

97.

98.

Large intricate designs transferred to fabric are called :

(1) Dobby weave (2) Spot weave
(3) Jacquard designs (4) Lapper weave
TH T T e RBomget &1 werraRer dewmar &
(1) sEt g (2) e &g
(3) ST R (4) T g
A true bias is cut at an angle of ;
(1) 45° to warp (2) 75° to weft
(3) 120° to selvedge (4) 180° to warp
O area® ae PrefaRa @t g1 i oy g
(1) a9 | 450 2) A= F 750
(3) HAAT q 1200 (4) ard | 1800
Keratin is found in the following :
(1) Nylon (2)  Wool (3) Cotton (4) Rayon
e il & arar ey
(1) Sfaem= (2) IH (3) e (4) =TT
Printing method originated in Java is :
(1) Batik printing (2) Block printing
(3) Roller printing (4) Discharge printing
T H Sy RifT fRify 2
(1) aifes fife (2) =TH fiifeer
(3) e fHifdr (4) EET R
37
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99. Maximum resiliency is found in @
(1) Silk (2) Polyester

(3) Rayon (4) Wool

Wﬁmﬂﬁﬁ%ﬁaﬁﬁwm%:
(1) Y™ (2) diftTaEx

(3) WWH 4) A

100. Moral anxiety is converted into an objective fe
(1) Reparation (2) Ratimization

(3) Projection (4) Anxiety

%ﬁm&;ﬂ%aﬁﬁﬁﬁtﬂwﬁaﬁ%m%ﬁ%:
(1) 9w (2) femTASA

(3) oSt (4) F&=
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10.
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12.
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arsfoal & fera fdw

(ngfﬁmé;mmgawamm-w%aﬁgﬁw
37 et areit amer-@rge 97 @ & FrE)

7Y e e & qu?ﬁ%ms?%@ﬁﬁmﬁmﬁwqi@%aﬁmfg
W@ﬁ%lma@@aﬁﬁwﬁmmw-ﬁmﬁww
TYAT 1 gE gfee ST ‘
qﬁwmﬁwmmﬂ%aﬁﬁﬁ%@mmﬁéﬁ@mw
u F @l
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dact IT-7 T & JoAIEA At A
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g & g aﬁ-a#mmﬁaﬁm—gﬁwwmawﬁzmmaﬁamﬁ
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qvgfiaT aT EEiE S o THo o T w & yfafsar 7 sufiera &t I
7@ &
m@mgﬁ@ﬁ‘#‘ﬁs‘eﬂqﬁaﬁﬁgﬁﬁwmm&amaﬁ?mwag u& Fqfad
g T AT AT A |
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Frtvit & i@t 97 @ g F 8
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T & 3T %aaaiqnmm-wqﬁwmﬁwaﬂé{
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